



SUMAS Y RESTAS DE NÚMEROS ENTEROS

Calcula las siguientes operaciones con números enteros.

$$(-4) + 8 =$$

$$(-7) + 6 =$$

$$(-7) + 2 =$$

$$(-1) + 3 =$$

$$(-5) + 6 =$$

$$1 + (-9) =$$

$$9 + (-9) =$$

$$(-2) + (-9) =$$

$$7 + (-6) =$$

$$3 + 3 =$$

$$3 + 6 =$$

$$(-9) + 8 =$$

$$4 + 4 =$$

$$(-6) + 3 =$$

$$4 + (-3) =$$

$$(-7) + (-9) =$$

$$6 + 4 =$$

$$(-1) + 4 =$$

$$(-5) + 9 =$$

$$2 + 1 =$$

$$2 + (-5) =$$

$$6 + 1 =$$

$$(-1) + 3 =$$

$$6 + (-4) =$$

$$3 + (-6) =$$

$$4 + (-1) =$$

$$(-6) + (-9) =$$

$$2 + 2 =$$

$$3 + 2 =$$

$$8 + (-5) =$$



$$(-4) - (-7) =$$

$$(-6) - 9 =$$

$$5 - (-3) =$$

$$(-6) - 3 =$$

$$(-2) - 6 =$$

$$5 - 9 =$$

$$7 - (-6) =$$

$$(-9) - (-7) =$$

$$(-8) - (-2) =$$

$$(-8) - 4 =$$

$$3 - (-2) =$$

$$(-2) - 9 =$$

$$(-7) - (-6) =$$

$$2 - 2 =$$

$$2 - 7 =$$

$$7 - (-7) =$$

$$2 - 9 =$$

$$(-9) - 6 =$$

$$(-9) - (-8) =$$

$$(-4) - (-2) =$$

$$1 - (-6) =$$

$$(-2) - 1 =$$

$$(-8) - 8 =$$

$$8 - 5 =$$

$$1 - 7 =$$

$$1 - (-4) =$$

$$(-3) - 4 =$$

$$5 - 6 =$$

$$8 - 7 =$$

$$(-8) - 7 =$$

